

## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-42841-65c3e0929d16a VERIFY.FTGS.US Date : February 07, 2024

	VERIF 1.F 103.03	Paro - Len	oruary 07, 2024	4	
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel		Port of Load Tucson	ling	
43 Corporate Park Irvine CA USA	Destination Country China		Destination Port Xingang Tianjin		
Consignee	Export Date 2024-02-03			Exporting Carrier N/A	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A		Bill of Lading / AWB 415310468820		
Beijing China	Owner or Agent N/A		Forwarding Agent N/A		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China					
Description (May include notes on Quantity, Item Number, Marks and Numbe	ra Kind of Dackages		Weight	Country of Origin	
Alfalfa Hay	rs, kind of Packages.)	21.0	083 mt	United States	
Marks: EITU9196963 52bales					
Alfalfa Hay	21.4	01 mt	United States		
Marks: EMCU9656954 52bales					
Alfalfa Hay Marks: EGHU9454840 52bales	21.3	182 mt	United States		
Alfalfa Hay Marks: TGBU4036943 52bales	21.3	373 mt	United States		
Alfalfa Hay Marks: EITU1415598 52bales		21.8	809 mt	United States	
Alfalfa Hay Marks: TXGU6080465 52bales		22.1	08 mt	United States	
Alfalfa Hay Marks: TGBU7143673 52bales		21.9	918 mt	United States	
Name of Authorized Trade Association	- The above-n applicable in The informal accurate, true - The Applicar Certificate (o of any inaccu - The Applicar truth, accurat - In considerar harmless GIC respect of an	nentioned goods originate in the the country(ies) to those good itoin in this certificate and in ar and complete. It undertakes to advise GIC an r to whom the Certificate is pre racy, omission or change in su tt will maintain, and present up cy and completeness of this ce tion for the GIC's issuance of t	he country(ies) spec is. ny documents provid d any other person(s ovided to with the kr uch information, or in pon request, such do ertificate and accom his Certificate, the A on with the issuance gainst GIC in connect	cumentation as is necessary to verify the panying documents. pplicant agrees to release, discharge and hc of this certificate and to indemnify GIC in ction herewith.	



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-42841-65c3e0929d16a VERIFY.FTGS.US Date : February 07, 2024

	VERIFY.FIGS.US Date: February 07, 2024				
Seller (Exporter) Healthy Green Life Corporation	Transport Type Vessel		Port of Lo Tucson	Port of Loading Tucson	
43 Corporate Park Irvine CA USA	Destination Country China		N X / / /// / / X8X2/X7 / X	Destination Port Xingang Tianjin	
Consignee	Export Date 2024-02-03	Export Date 2024-02-03		Exporting Carrier N/A Bill of Lading / AWB 415310468820	
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District	Import Permit Number N/A				
Beijing China	Owner or Agent N/A		Forwardin N/A	Forwarding Agent N/A	
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company	Remarks Total: 780 ba Total: 323.7				
200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China					
Description (May include notes on Quantity, Item Number, Marks and Numbe	rs. Kind of Package	s.)	Weight	Country of Origin	
Alfalfa Hay			21.727 mt	United States	
Marks: TEMU7122937 52bales					
Alfalfa Hay		21.927 mt	United States		
Marks: EITU1490396 52bales			24 C40 mt		
Alfalfa Hay Marks: EITU9167477 52bales			21.618 mt	United States	
Alfalfa Hay			20.094 mt	United States	
Marks: GAOU6330058 52bales					
Alfalfa Hay Marks: EITU1249650 52bales			21.782 mt	United States	
Alfalfa Hay Marks: EMCU8224621 52bales			22.036 mt	United States	
Alfalfa Hay Marks: TGHU6822136 52bales			21.709 mt	United States	
Name of Authorized Trade Association		<ul> <li>The above-mentioned goods of applicable in the country(les) to The information in this certifica accurate, true and complete.</li> <li>The Applicant undertakes to ad Certificate (or to whom the Cert of any inaccuracy, omission or con- The Applicant will maintain, and truth, accuracy and completenee: In consideration for the GIC's is</li> </ul>	iginate in the country(ies) sp those goods. te and in any documents pro- vise GIC and any other perso ficate is provided to with the hange in such information, of present upon request, such so of this certificate and acc suance of this Certificate, th n connection with the issuar ms made against GIC in con	documentation as is necessary to verify the ompanying documents. e Applicant agrees to release, discharge and hol ice of this certificate and to indemnify GIC in nection herewith.	



## CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number : GI-COO-42841-65c3e0929d16a VERIFY.FTGS.US Date : February 07, 2024

	141 Mitt					
Seller (Exporter) Healthy Green Life Corporation 43 Corporate Park	Transport Typ Vessel	De la	Port of Loading Tucson			
Irvine CA USA	Destination C China	country	Destination P Xingang Tiar			
Consignee	Export Date 2024-02-03		Exporting Car N/A	Exporting Carrier N/A		
Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing	Import Permit Number N/A			Bill of Lading / AWB 415310468820		
China	Owner or Age N/A	ent	Forwarding A N/A	Forwarding Agent N/A		
Buyer (Importer) Bei Jing You Yuan Mu Ye Limited Company 200 meters west of Village Committee, Wuxiongsi Village Dasungezhuang Town, Shunyi District Beijing China	Remarks Total: 780 ba Total: 323.7					
Description (May include notes on Quantity, Item Number, Marks and Numbers	, Kind of Package	s.)	Weight	Country of Origin		
Alfalfa Hay         Marks: DRYU9452196 52bales         ====================================		The Applicant (or the Applicant on		United States         =======         Image: state stat		
Authorized Signature Farhad Ghorbani Fard		applicable in the country(ies) to the -The information in this certificate accurate, true and complete. -The Applicant undertakes to advis Certificate (or to whom the Certific of any inaccuracy, omission or cha -The Applicant will maintain, and pi truth, accuracy and completeness -In consideration for the GIC's issue	ose goods. and in any documents provided e GIC and any other person(s) ate is provided to with the know nge in such information, or in th resent upon request, such doct of this certificate and accompa ance of this Certificate, the App onnection with the issuance of made against GIC in connectif	imentation as is necessary to verify the inying documents. olicant agrees to release, discharge and hold this certificate and to indemnify GIC in on herewith.		

Invoice Metric

## **Healthy Green Life Corporation** 1152 S Roughcut Dr, Casa Grande, AZ 85194 USA

COMMERCI	AL INVO	ICE			Invoice No. Date:	YY-202401007 1/31/24	
<b>Shipper/Exporter</b> Healthy Green Life 1152 S Roughcut D Casa Grande, AZ 8	Green Life Corp Bei Jing You Yuan Mu Ye Limited Company						
Vessel:	EVER FEAT			Contract No.:	YY-HGLC2023-1		
Voyage No.:	1330-018W			Booking No.:	415310468820		
Shipping Line:	Evergreen			Country of Origin:	u: USA		
Port of Loading:	LOS ANGELE	S, CA		Discharge:	TianjinXingang, China		
ETD:	1/15/24			ETA:	2/17/24		
Price Terms:	CIF						
		_					
Container No.	Seal #	Product	Bales	Net Weight (MT)	Unit Price USD/MT	Amount (USD)	
DRYU9452196	A1487472	Alfalfa Supremi	52	21.745	\$470.00	\$10,220.15	
EGHU9454840	A1487351	Alfalfa Supremi	52	21.382	\$470.00	\$10,049.54	
EITU1249650	A1487495	Alfalfa Supremi	52	21.782	\$470.00	\$10,237.54	

Remaining Balance:					\$.00	
Prepaid Full:					\$152,144.64	
Total Value:			780	323.712		\$152,144.64
TXGU6080465	A1487500	Alfalfa Supremi	52	22.108	\$470.00	\$10,390.76
TGHU6822136	A1487483	Alfalfa Supremi	52	21.709	\$470.00	\$10,203.23
TGBU7143673	A1487493	Alfalfa Supremi	52	21.918	\$470.00	\$10,301.46
TGBU4036943	A1487357	Alfalfa Supremi	52	21.373	\$470.00	\$10,045.31
TEMU7122937	A1487499	Alfalfa Supremi	52	21.727	\$470.00	\$10,211.69
GAOU6330058	A1487484	Alfalfa Supremi	52	20.094	\$470.00	\$9,444.18
EMCU9656954	A1487359	Alfalfa Supremi	52	21.401	\$470.00	\$10,058.47
EMCU8224621	A1487481	Alfalfa Supremi	52	22.036	\$470.00	\$10,356.92
EITU9196963	A1487360	Alfalfa Supremi	52	21.083	\$470.00	\$9,909.01
EITU9167477	A1487486	Alfalfa Supremi	52	21.618	\$470.00	\$10,160.46
EITU1490396	A1487488	Alfalfa Supremi	52	21.927	\$470.00	\$10,305.69
EITU1415598	A1487494	Alfalfa Supremi	52	21.809	\$470.00	\$10,250.23
EITU1249650	A1487495	Alfalfa Supremi	52	21.782	\$470.00	\$10,237.54
EGHU9454840	A1487351	Alfalfa Supremi	52	21.382	\$470.00	\$10,049.54

Commodity	Crude Protein	Moisture	RFV	ASH
Alfalfa Hay(Supreme)	>=22	<=14	>=185	<=12

GREEN COLOR, LITTLE TO NO BLEACH, NO MILDEW, NO DIRT.

CHAMBE PACKING: FIP FOR OCEAN TRANSPORTATION AND NON WOOD PACKAGING, EACH BALE IS APPROX. 420-460KG 2/7/24, 9:36 AM

By Healthy Green Life Corporation



AUTHORIZED SIGNATURE



Invoice Metric

